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main ( ) {
inti, a[10];
for(i=9; i>=0; i--)
ali]l=10-i;
printf("%d%d%d", a[2], a[5], a[8]);
}

2. [IiE]

main ( ) {
int i, n[1={0,0,0,0,0};
for (i=1; i<=4; i++){
n[i]=n[i-1]*2+1;
printf("%d",n[i]);

}
}
3. [
main ( ) A
int a[31[3]={{1,2},{3.,4},{5,6}}, i, j, s=0;

for(i=1; i<3; i++)
for(j=0; j<=i; j++)



s+=a[il[jl;
printf("%d\n",s);

}
4. IR
main ( ) A

inti, x[3][3]={1,2,3,4,5,6,7,8,9},
for(i=0; i<3; i++)
printf("%d," , x[il[2-i]);

}
5. [IRi]
main ( ) A

int b[3][3]1={0,1,2,0,1,2,0,1,2},i,j,t=1;
for(i=0;i<3;i++)
for(j=i;j<=i;j++)
t=t+b[i][b[j1{jIl;
printf("%d\n",t);

}
6. [IRi%]
main ( ) A

int p[7]1={11,13,14,15,16,17,18}, i=0, k=0;
while(i<7 && p[i1%2){
k=k+plil;
i++;
}
printf("%d\n", k);
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main ( )
{

inti,a[20],s,count;

s=count=0;

for (i=0;i<20; i++)
scanf("%d",______);

for (i=0;i<20; i++)}
if(a[i]<0)

}

printf("s=%d\t count=%d\n", s, count);
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TEHEFRNINERE - MATNEREFERFR , fld : FRINFZ8,5,3,2, BXEH2,3,5,8

#define N 10
main ( )
{

inti, j, k, a[N];
for (i=0; i<N; i++)
{
scanf("%d", &ali]);
printf("%d ",alil);
}

printf("\n");
for (i=0, _____;___;it+,j-)
{

k=ali];

afil=aljl;

}
for (i=0; i)
printf("%d ",alil);
printf("\n");
}
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main ( )
{
int a[3][3]={{1,3,6},{7,9,11},{14,15,17}},sum1=0,sum2=0, i, j;
for (i=0; i<3; i++)
for (j=0; j<3; j++)

if ( ) sum1=sum1+alil[j];
for (i=0;i<3;i++)
for ( ; y =)

if (i+j==2)

printf("sum1=%d,sum2=%d\n",sum1,sumz2);

}
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